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he remainder when 3%° is divided by 5 is
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(b) 2
(c) 3

(d) 4
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| 2 Solve for/AMA Y (x ) HT AN
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25
3ab(a+h) _ (25) ,and/3MRa+b=5

SSC CGL 2014

(@) 2
(b) 3
(€)1
(d) 0
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1 3 Ifrafe l—sinzA=m,then the value of/aY HTT [TA Y
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A retailer purchase 40 pens at the cost price of 36 pens from ‘
a wholesaler. If he sells all of them at a discount of 3%, then
what Is his profit percent?

TP el TH Y1 ATIRI A 36 FAH DI DHT UR 40
HAH @iledl &1 3R 98 3% 1 Pe W 37 I &I d=ar g, @
SIBT AT Ufa=d |1 e

G)
33(1/3)%
(b)
11(1/9)%
(c) 7( 7/9)
%
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5 If/ﬂﬁ‘ tan0 + cot 0 = 3, then the value of/ATA sn?raf{
tanZ0 + cot’0 = ?
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j 6 If the Lengths of the three sides of a triangle are

6cm, 8cm and 10cm. Then the length of the line that
f bisect the largest side at right angle

gfe us FAdior & o9 uan [dTs 6cm, 8cm 3R

|
N 10cm §. S YG1 Bl GdIS JTd DY Sl GHBIUT

| R et @ e P e 9t Y @ 2(@) 8 em

(b) 6 cm
(c) 5cm
(d) 4.8 cm




0.009x0.036 x0.016 X 0.08
0.002 x 0.0008 x 0.0002




here are three containers of equal capacity. The ratio
of Sulphuric acid to water in the first container is 3 : 2,
that in the second container is 7: 3 and in the third
container. It is 11: 4. If all the liquids are mixed together,
| J then the ratio of sulphuric acid to water in the mixture
N will be:
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| 9A shopkeeper sold an item at 20% loss after giving a ‘
discount equal to half the marked price. Then the cost
price is:

U9 gHTER A 3Meh Ba & IR Te 33 & 91 20% \'
mﬁwwmﬁlﬁwwg Td B 2 ‘

(a) 1/8 of

f

(b) 419 of l

(c) 8/5 of
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If the ratio of areas of two similar triangles is 9:
;%t%en the ;%tio q%th;iéfinradius ? % N

HHIA ‘{-j\'ril dI AqUId 9: 16 &,
3% Haltd ord: AsaT & 3uTd 8
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The sum of interior angles of a regular polygon is
1440°. The number of sides of the polygon Is: |
1 TS I dgYS & 3Tai¥d HIVN BT AT 1440 ° 81 TgYST |
%‘{-Frﬂx’rﬁ ST B

(a) 10 |p
|

(b) 12 I
(C) 6 '
(d) 8
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2 One-third of a certain journey is covered at the rate of 25

J km/hr, one-fourth at the rate of 30 km/hr and the rest at
| / 50 km/hr. The average speed for the whole journey in :-
l

(km/h
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i 1 The numerical value of/HTH JTd Y £ + - + 3sinZ%0

1+cot?0 1+tan?0




The value of/ATT mﬂ-ﬁ‘ 2

(1+2) 1+ 0+ 5)(
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The price of sugar Is increased by 25%. If the ' ’
expenditure on sugar has to be kept the same as earlier, §
the ratio between the reduction in consumption and the

original consumption is: il
b o st R wa s |
uaﬁﬁwé’rwm% TUd U HHI 3R o ¥yl |

a9 &7 U & ! [

(b)
1:4
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1 In a AABC, the side BC is extended up to D such that CD = AC, If £ BAD = 100°
andZACB = 72°, then the value of Z ABC is

{ O s ABCH, 9T BC %Y D @ SgTar wirat € S f CD = AC, af ®iuor BAD = 100
SHTT ACB =72, AT ABCHFTHAE

(a) 35°
(b) 60°
(c) 40°
(d) 44°







A rlght angled trlangle W|th sides of 6 cm, 8 cm and
10cm. Find the ratio of in-radius and circum radius

respectively.

6 aHT, 8 AT SfiT 10 FHY & T&AT F AT TF THFIOT AL
FHL: e AT S aRASAT F STUTq T 9T A0
SSC CPO 2016,2014
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By selling 33m. Cloth a shopkeeper loses money ' ’
equivalent to selling price of 11 m. Find his loss '
percentage’?
33 Y. HIST TAFL, TF ghAaL 11 HT H bt 77 |
¥ T A THATT SBT3 ITHT THAT TAqT Aq |
™2 ssc crPo 2020 (a) I

25%
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A dishonest fruit seller sells fruits at 5% loss. If he
uses 850 gm weight in place of 1 kg weight, then what
is his profit percent?

TS ST Bl faehar 5% I 9wt S9a1 21 I 98 1
FohetT T & ST 9X 850 ATAITALRAT IGHDINT Il %a‘r

|
I ATH TAqqT FAT 8?7 (@) 11:-%

(b) 11—%

| (c) 11.5%
(d) 12.%




A cricketer gives 18.4 runs per wicket. He gives 60 runs
and takes 5 wicket in a match after which his average
becomes 18 per wicket. How many wickets had been

taken till the last match? | |
T fFe 7ia faFe 18.4 T[T 81 98 TF A # 60 T <aT |
iaﬂtsﬁ%ﬁm%ﬁmﬁ?mwaﬂw%@lﬁ{ﬁ@@? |
SITaT 81 e &= o frae e Rro o 97 (a) 75

(b) 80 |
(c) 85
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9 Iffafe a=5, b =6, c=-10 then the value of/[ATH ITA FX
(a3+b3+c3)—3abc

( 9  (ab+bctca—a?-bZ—c2) ° SSC CGL 2018,2012
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At the centers of two circles, two arcs of equal length
subtend angles of 60° and 75° respectively, the ratio of
f 3 the radii of the two circles is :

T FAT F hal T€, AT AdqT8 & QU 979w 600 3{T 750 +
IO AT 8, T I Dl AT FT AT 3
SSC CHSL 2020

(@)5:2
(b)5:4
(c)3:4
d)2:1




